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x—3 x—>2 x4 x+3 a
] 81 —x ] x—15 ] t
A= lim —=—=-18 S=|lm —F—=-8 .6=(lim +/ 1 —x =undefined)
Ans] — x—>81 A/x -9 xo15 4—4/x+1 x—3 h
) . |x—1| . |f—4x+3| | @
7=( lim |x-2|=4) 8=| lim = undefined 9= lim ————=2| || i
x—=>(-2) x—>1 l—x x> 1+ x—1 U
3 3 , |5x—4|
A0=| lim —+77=o Al=| lim —————=undefined Math@MUT T
x>0+ X |X| x>(4/5) Sx +6x—8 I
_ . L]
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x—0- x =0+ x>0
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Ans2 = lim f(x)+g(x)=-2 lim f(x)—g(x)=-2 lim f(x)g(x)=8
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L x— 0+ g(X) x—>0 |
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A=(lim 2x +4x+3=9) 2=(lim (5x"+3x-1)(4x"+3x+3)=70) 3=|lim ———— =__ M
x—1 x—1 x4 4x —=3x+1 53 a
16 —x Ax=2-5 -1
.4:(hm. :8J .5=[hm —_____—:_J .6=(lim 4/ 1—x =undefined) !
Ans] = x>16 4—4/x vo21 2T-x 10 x> 1 h
a _ ox-1 _ x-2 A1 @
J=( lim |x+3]|=1) 8=| lim T— = undefined 9= lim ———=—{|
x> (2) x> 1 X—1| x%z|x—6x+8| 2
33 2P -25x+12 v
A0=] lim ——=77=0 A1=| lim = undefined Math@MUT T
L x>0+ X |ﬂ x—(4/3) |3X—4| 11
_ . L]
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x—0- x— 0+ x>0
2=[lim g(x)=-3, lim g(x)=3, lim g(x)=undefined |
x—0- x— 0+ x>0
Ans2 = lim f(x)+g(x)=-2 lim f(x)-g(x)=-2 lim f(x)g(x)=-15
x— 0+ x—0- x— 0+
3= f(x) 5 ,
m =T lim f(x)— g(x) = undefined Math@MUT
L x—0- g(X) 3 x—=0 |
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Ans3 = x—3- x— 3+ x—3
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.7=( lim |—3+x|:4) 8=| lim 77 =undefined Y=lm ———=7 M
x> (-1) o1 x—1| o 4t x—4 U
3 3 . |5x-2]
A0=| lim —+77=0w| .Il=| lim 5 = undefined Math@MUT T
L x>0+ X |x| x>2/5 10x"+11x-6 Iy
_ i L
d=[1lm f(x)=-5 lim f(x)=-5, lim f(x)=-5]
x—0- x =0+ x>0
2=[lim g(x)=-5 lim g(x)=35, lim g(x)=undefined |
x—0- x— 0+ x—>0
Ans2 = lim f(x)+g(x)=-10 lim f(x)-g(x)=0 lim f(x) g(x)=-25
x—0- x—0- x— 0+
3= . fx) :
lim =-1 lim g(x)— f(x) = undefined Math@MUT
L x— 0+ g(X) x—>0 |
Ad=(lim f(x)=4) 2=(lim f(x)=5) 3 =(lim f(x)=undefined)
Ans3 = x—4- x >4+ x—>4
A4=(C lim f(x)=-5) S=( lim f(x)=-5) .6=( lim f(x)=-5.)
x—(-5.1)- x—(-5.1)+ x—(-5.1)
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Limit03 Answers for No.11841
(
[ (lim 55 +x43=9) 2=(lim (52 43x-2)(=2x42)=6) .3 (1‘ Sa ] 13]_ .
d=(lim 5x +x+3= 2=(lim (5x"+3x- X' =2x+2)= 3 =] lim = M
x—>1 x—1 x—4 2X3+2X2+3 163 a
9—x Ax=2-4 -1
.4=[lim =-6J .5=(lim —:—] .6=(lim 4/x—2 =undefined) !
X9 «/;—3 ro>1g 18—x 8 X2 h
Ansl = \
_ _ |x—1| _ x—5 -1 @
7=( lim |-3+x|=6) 8= lim = undefined 9= lim ————=—| || 1,
x> (3) x>l X x> 5- |x —6x+5| 4
4 4  3x242x-8 u
A0=| lim 77-—=0 11=| lim —-— 7  =undefined Math@MUT T
L x = 0+ |x| X x—>(4/3) |3X—4| 1)
] _..!(_
Ad=[1lim f(x)=-5 lim f(x)=5, lim f(x)=undefined]
x—0- x— 0+ x>0
2=[lim g(x)=-2, Iim g(x)=-2, lim g(x)=-2]
x—0- x— 0+ x>0
Ans2 = lim f(x)+g(x)=-7 lim f(x)—g(x)=-3 lim f(x)g(x)=-10
x— 0- x—0- x— 0+
3= M) 5
lim = lim f(x)+ g(x) = undefined Math@MUT
L x— 0+ g(X) x—>0 |
Ad=(lim f(x)=4) 2=(lim f(x)=5) 3 =(lim f(x)=undefined)
Ans3 = x—4- x >4+ x—>4
| 4=( lim f(x)=-1.) 5=( lim f(x)=-1.) .6=( lim f(x)=-1.)
x—(-1.1)

x—(-1.1)- x—(-1.1)+
):0:9:9:9:9:9:9:9:9.9:9.9:9.9:9.9:9.0:9.9:9.0:9.9:9.9:0:0:9.9:9:9:9:9:9:9.9:9.9:0.9:9.0:0.0:9.0:9.0:9.0:9.0:9.0:9.0:9.0:0.0:9:0:9:0:0:0.9:9.9:0.9:0.0:0.0:9.0:9.0:9.0:9.0:9.0.0.0:0.0:0.9:9:9:0:9.0:0.¢
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Limit03 Answers for No.11842

i . s, , s . 4x-3 5
A=(lim 2x" -4x" -2x-2=-6) 2=(lim (4x+4)(2x —-4x +3x)=432) 3= lim ==
x—2 x—3 x—?2 x+1 3
4 (1' X 14) 5 (1‘ x§ 4} 6=(lim 4/2—x=1)
4= lim =- S=|lim ————= .6 =(lim -x =
x—49 «/;—7 x>8 Afx—4 =2 x> 1
Ansl = 2
. . |x—2| . |x +2x—15|
7=( lim |—3+x|=5) 8= lim = undefined 9= lim =-
x—(2) x—2 - X X —>3- -3 +x
4 4 _ 10x*—13x-3
A0=| lim —+77=o A= lim = undefined Math@MUT
L x>0 X |x x5 (3/2) |2x—3|
Ad=[1lim f(x)=-4, lim f(x)=4, lim f(x) = undefined ]
x—0- x— 0+ x>0
2=[lim g(x)=35, lim g(x)=5, lim g(x)=5]
x—0- x— 0+ x>0
Ans2 = lim fx)+g(x)=9 lim f(x)—g(x)=-9 lim f(x)g(x)=20
x— 0+ x—0- x— 0+
3= o ftx) 4 , )
lim ——=— lim = undefined Math@MUT
L x — 0- g(X) 5 x—0 g(x |
Ad=(lim f(x)=3) 2=(lim f(x)=4) 3 =(lim f(x)=undefined)
Ans3 = x—3- x— 3+ x—3
4= lim flx)=-1.) S=( lim f(x)=-1.) .6=( lim f(x)=-1.)
x—(-1.9)+ x—(-1.9)

x—(-1.9)-
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Limit03 Answers for No.11901

_ s -
d=(lim 2x"+x=3) 2=(lim (5x+1)(2x —x*—x)=672) 3=(lim S :oj
x—1 x—3 xo2 4x+4x —-3x
4 (1' x— 100 20) 5 (1‘ x4 2] 6=(lim 42 defined)
4= m ~—— = D= m I/ = 0= m — X = unaejine
x— 100 «/;—10 x4 A/ 3+x -1 x—>2
Ansl = ,
) oo x—1 ) -3 +x
7=( lim |-3+x|=6) .8:(hm —=undeﬁnedj .9=(hm 2—=1J
x—(-3) x> 1 |X—1| x> 3+ |x —7x+12|
2 2 . 8xX —14x-15
A0=| lim —7-—=0 Al=| lim = undefined Math@MUT
L x— 0+ |X| X x—(5/2) |2X—5|
I J=[lim f(x)=-2, lim f(x)=-2, lim f(x)=-2] 1
x—0- x =0+ x>0
2=[lim g(x)=-1, lim g(x)=1, lim g(x)=undefined |
x—0- x— 0+ x—>0
Ans2 = lim f(x)+gx)=-1 lim f(x)—g(x)=-1 lim f(x)g(x)=2
x— 0+ x — 0- x— 0-
3= . fx) f(x)
lim ——=-2 = undefined Math@MUT
L x— 0+ g(X) x—>0 g(X) |
A=(lim f(x)=1) 2=(lim f(x)=2) 3 =(lim f(x)=undefined)
Ans3 = x—2- x> 2+ x—2
|4=( lim f(x)=-5.) S=( lim f(x)=-5.) .6=( lim f(x)=-5.)
x— (-43)- x—(-43)+
[Page 0014]
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Limit03 Answers for No.11947

(
I 5x-x 9 1] 7
. 3 . 3 2 .
d=(lim 3x -2x-3=72) 2=(lim (2x+3)(3x —3x")=486) 3= lim =_ M
x—3 x—=3 x—2 x+2 2 a
. 64 —x . -4 —x . P
A4=| lim =-16 S=| lim —F—=2 .6 =(lim 4/3 —x =undefined)
Ans] — x> 64 «/7—8 xo(4) 1—4x+5 X3 h
1 —x x-5 1) @
=(C1lm [x-1[=4) .8:(lim —:undeﬁnedj .9:(lim Z—J
x—)(-3)| | x> 1 X—1| x5 |x2—7x+10| 3 M
5 5 _ |4 x 3] v
A0=| lim —+77=0 Al=| lm ———  =undefined Math@MUT T
x—>0- X |x| x—>(3/4) 12x" —x—6 1y
L'
Ad=[1lim f(x)=-2, lim f(x)=2, lim f(x)=undefined]
x—0- x— 0+ x>0
2=[lim g(x)=-4, im g(x)=-4, lim g(x)=-4]
x— 0- x— 0+ x—0
Ans2 = lim f(x)+g(x)=-2 lim f(x)-g(x)=2 lim f(x)g(x)=8
x— 0+ x—0- x—0-
3= o fx) -l :
lim = lim f(x)+ g(x) = undefined Math@MUT
L x— 0+ g(X) x—>0 |
A=(lim f(x)=3) 2=(lim f(x)=4) 3 =(lim f(x)=undefined)
Ans3 = x—3- x— 3+ x—3
|4=( lim fix)=-2)) S=( lim f(x)=-2.) .6=( lim f(x)=-2.)
x> (-23)- x> (-23)+ x—(-23)
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Limit03 Answers for No.11989

(
: 3 2 . 3 2 . 5x2—2 l )
d=(lim 2x" -3x"—1=3) 2=(lim (x—1)(2x —2x"—-4x)=0) S=|lim —/————=-43 M
x—2 x> 1 x>3 X —2x—-4 a
8—4x 1 x+4
.4=(lim “/7=—] .5=( lim —=-2] 6=(lim yx—2 =undefined) || '
Ans] = rses 64—x 16 xo(4) I —4x+5 xo 1 h
7= (lim |x+1]=3) 8 (1' - defi dj 9 (1' S 1j’ @
J=(lim |x = 8= lim /7 =undefine 9=lm —— =-
X2 X3 |—3 +x| X3 |x2—7x+12| M
U
2 2 . [3x-1]
A0=| lm 77-—=0 Al=| lim 5 = undefined Math@MUT T
L x - 0+ |X| X xo(1/3) 15x"+7x—-4 11y
_ . L'
d=[1lm f(x)=2, lim f(x)=2, lim f(x)=2]
x = 0- x— 0+ x—>0
2=[lm g(x)=-2, lim g(x)=2, lim g(x)=undefined |
x—0- x— 0+ x—>0
Ans2 = lim f(x)+g(x)=4 lim f(x)—g(x)=4 lim f(x) g(x)=-4
x— 0+ x—0- x— 0-
3= . f(x) :
lim =1 lim f(x) g(x) = undefined Math@MUT
L x— 0+ g(X) x—>0 |
A=(lim f(x)=3) 2=(lim f(x)=4) 3 =(lim f(x)=undefined)
Ans3 = x—4- x >4+ x—>4
|4=( lim f(x)=-6.) 5=( lim f(x)=-6.) .6=( lim f(x)=-6.)
x—(-5.5)- x—(-5.5)+
[Page = 0016]

x—(-5.5)
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Limit03 Answers for No.11996

2
+1 )
) 2 ) 3 2 . X
d=(lim 2x"+2x+4=16) 2=(lim (4x +3x" -2x)(4x-3)=5) 3 =| lim = M
x—2 x—>1 x—4 2x-3
a
—-X 4—-4x+5 1
.4=(hm :ISJ .5:(lim —:—J 6=(lim 1 -x =undefined) | | !
Ans] — x>81 9 —4/x i1 Hl—x 8 x> 1 h
| x-2] . x—4 | @
7=(lim |x+2|=5) 8=| lim = undefined 9= lim =-1{||
X3 xs2 27X x4 |x —9x+20|
4 4 _ 13 x— 4] u
A0=| lIim —+77=o Al=| lim 5 = undefined Math@MUT T
L x>0+ X |x x—>4/3) 15x =29x+12 Iy
L'
Ad=[1lim f(x)=-5 lim f(x)=5, lim f(x)=undefined]
x—0- x— 0+ x>0
2=[lim g(x)=2, lim g(x)=2, lim g(x)=2]
x— 0- x— 0+ x—0
Ans2 = lim f(x)+g(x)=-3 lim f(x)-g(x)=3 lim f(x) g(x)=10
x— 0- x— 0+ x = 0+
3= . ftx) S5 :
lim = lim f(x) g(x) = undefined Math@MUT
L x — 0- g(X) 2 x—>0 A
Ad=(lim f(x)=3) 2=(lim f(x)=4) 3 =(lim f(x)=undefined)
Ans3 = x—3- x— 3+ x—3
4= lim flx)=-1.) S=( lim f(x)=-1.) .6=( lim f(x)=-1.)
x—(-13)- x—(-1.3)+
[Page = 0017]

x—(-1.3)
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Limit03 Answers for No.12889

(
| : 3, .2 . 2 2 . 3x+1 4] )
A=(lim 2x +x" +4=7) 2=(lim (xX"—x+4)(2x" +x+2)=20) S={lm — =" M

x> 1 x> 1 i1 2x=3x-2 3 a
-1 3—4/x+1 -1
.4=(lim ad =2J .5=(lim —x=—] 6=(lim /3 -x =4/2) t
Ansl = x—>1 1/;—1 x—>38 x—8 6 x—>1 h
. ox—1 . x—4 1| @
7=(lim |x-2|=0) 8=| lim T—— = undefined 9= lim —5————=—|| y
X2 x> 1 X—1| x4 |x +x—20| 9
1 _ |6x-5| v
A0=| lim —+77=0w| .Il=| lim 5 = undefined Math@MUT T
L x>0+ X |X| x> (5/6) 18x =39 x+20 Iy
_ . L
d=[1lm f(x)=-5 lim f(x)=-5, lim f(x)=-5]
x—0- x =0+ x>0
2=[lim g(x)=-1, lim g(x)=1, lim g(x)=undefined |
x—0- x— 0+ x>0
Ans2 = lim f(x)+g(x)=-6 lim f(x)—g(x)=-4 lim f(x)g(x)=-5
x—0- x—0- x— 0+
3= . f(x) : )
lim ———=-5 lim = undefined Math@MUT
L x— 0+ g(X) x—>0 g(X) |
Ad=(lim f(x)=2) 2=(lim f(x)=3) 3 =(lim f(x)=undefined)
Ans3 = x—2- x> 2+ x—2
| 4=( lim f(x)=-5) S5=( lim f(x)=-5.) .6=( lim f(x)=-5.)
x—(-5.6)- x—(-5.6)+ x—(-5.6)

X [Page = 0018] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKKXKKXKXXXXKKKKKKKK XXX KKK KKK KKK KKK KKK KKK KKK KKK KK KKKKK



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXKXXXKXXXKX KKK KKK XKLL XKL XKL LKL KKK KKK LXK KKK KKK K KKKKKKKKKIME6/1-6400504-0001 9XX

X [Page =

Limit03 Answers for No.12890
(
_ . _ , 5K -3x 14 )
A=(lim 3x —4x-1=15) 2=(lim (5x+1)(2x" —4x+4)=12) I=|lim ————=— M
x—2 x—>1 x—2 4x-3 5
4-4fx 1 14 .
.4:(lim =—] .5=(lim —z-gJ 6=(lim Yx—-1=1) !
ro16 16—x 8 xo>14 4—4/x+2 X2 h
Ansl = ) ,
) ) X — ) |x +2x—3| @
7=( lim |x+1]|=1) 8=| lim T—— = undefined 9=| lim =- M
x—(-2) x—2 X—2| x—1 x—1 U
2 2 _ 5x+13x-6
A0=| lim ——77=- Al=| lim = undefined Math@MUT r
L x—>0- X |x| x—>(2/5) |5x—2| 41 2)
L
Ad=[1lim f(x)=-3, lim f(x)=3, lim f(x)=undefined]
x—0- x— 0+ x>0
2=[lim g(x)=-3, Iim g(x)=-3, lim g(x)=-3]
x— 0- x— 0+ x—0
Ans2 = lim f(x)+g(x)=-6 lim f(x)-g(x)=0 lim f(x)g(x)=-9
x— 0- x—0- x— 0+
3= . fx) :
lim =-1 lim f(x)— g(x) = undefined Math@MUT
L x— 0+ g(x) x—>0 |
Ad=(lim f(x)=3) 2=(lim f(x)=4) 3 =(lim f(x)=undefined)
Ans3 = x—3- x— 3+ x—3
|4=( lim f(x)=-5.) S=( lim f(x)=-5.) .6=( lim f(x)=-5.)
x> (-5.4)- x> (-54)+ x> (-54)
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Limit03 Answers for No.12891

_1_
I ~ 3 2 . > , 4x-3 N
A=(lim 5x -2x"+4x-2=127) 2=(lim (4x-2)(3x"—x—-3)=210) 3= lim 3 5 == M

x—3 x—>3 o2 4x =2x"+3x 6 u
64 —x x—-4-1 -1
.4:( lim =16) .5:(lim —:—J .6=(lim 4 x—1 =undefined) !
x>64 8—4/X x5 5-x 2 xo1 h
Ansl = 2 5
| R eeaxes] ) [] @
7=( lim |x-2|=5) 8= lim = undefined 9=|1lim ———=6| || iy
x> (-3) o1 X—1 x5+ x—5 U
. 2 2 . 4x-3
A0=| lim 7-—=w Al=| lim 2 = undefined Math@MUT T
L x—0- |x| X x—>3/4) 20x°—=23x+6 Iy
i i _'.!(_
d=[1lm f(x)=3, lim f(x)=3, lim f(x)=3]
x —0- x— 0+ x—>0
2=[lm g(x)=-1, lim g(x)=1, lim g(x)=undefined |
x—0- x— 0+ x—>0
Ans2 = lim f(x)+g(x)=4 lim f(x)-g(x)=4 lim f(x)g(x)=3
x— 0+ x—0- x— 0+
3= - fx) :
lim =-3 lim f(x)+ g(x) = undefined Math@MUT
L x — 0- g(X) x—>0 A
A=(lim f(x)=1) 2=(lim f(x)=2) 3 =(lim f(x)=undefined)
Ans3 = x—1- x— 1+ x—1
4= lim flx)=-1.) S=( lim f(x)=-1.) .6=( lim f(x)=-1.)
x> (-14)- x> (-14)+ x> (-14)
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Limit03 Answers for No.12917

(
o, , ., . 3x+1 2 %
A=(lim 2x"+x—-4=-1) 2=(lim (3x+2)(3x —-4x -2x)=32) 3= lim 5 == M
x—>1 x—2 xo3 2x =3 3 a
1 - 2—4/x+1 1
.4=(lim — =-2] .5=(lim s =—j 6=(lim +/x—2 = undefined)| | !
Ansl = x—>1 1/;—1 x—3 3-x 4 x—>1 h
, o |x-2] _ B3+x  -1) | @
7=( lim |x+2]|=0) 8=/ lim = undefined 9=| lim ————=— ”
x> (-2) ro2 X—2 x - 3- |x —x—6| 5
4 4 . 53] v
A0=| lim 77—-—=0 Al=| lim 5 = undefined Math@MUT T
L x = 0+ |X| X x> (3/5) 20x"=37x+ 15 Iy
L'
Ad=[1lm f(x)=-2, lim f(x)=2, lim f(x) = undefined]
x—0- x— 0+ x>0
2=[lim g(x)=4, lim g(x)=4, lim g(x)=4]
x—0- x— 0+ x>0
Ans2 = lim f(x)+g(x)=6 lim f(x)—g(x)=-2 lim f(x) g(x)=-8
x— 0+ x— 0+ x = 0-
3= R 1
lim = lim g(x) - f(x) = undefined Math@MUT
L x = 0- g(x) 2 x—>0 |
A=(lim f(x)=0) 2=(lim f(x)=1) 3 =(lim f(x)=undefined)
Ans3 = x—1- x— 1+ x—1
|4=( lim f(x)=-6.) 5=( lim f(x)=-6.) .6=( lim f(x)=-6.)
x—(-5.6)- x—(-5.6)+
[Page = 0021]

x—(-5.6)
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(0
I 4x°-3x 11
. 32 . 2 .
A=(lim 2x" -x"+x+2=16) 2=(lim (2x+2)(3x —1)=606) I=lim ———=99 M
x—2 x—2 x—3 x—2 a
9—x x—18
.4:(lim :6] .5=(lim —:SJ 6=(lim /=3 +x = undefined) | | !
x—9 3 —4/x x>18 A/ x—2 —4 x—3 h
Ansl = ,
i ) -3 +x ) x—4 1 @
7=(lim |x+1|=4) 8= lim T— = undefined 9=| lim — == by,
X3 X3 —3+x| x> 4+ |x +x—20| 9
5 5 302-37x410 v
A0=| lim —+77=0 Al=| lim = undefined Math@MUT T
L x—>0- X |x| x—>(5/6) |6x—5| SR
_ i L
Ad=[lim f(x)=2, lim f(x)=2, lim f(x)=2]
x—0- x— 0+ x>0
2=[lm g(x)=-2, lim g(x)=2, lim g(x)=undefined |
x—0- x— 0+ x—>0
Ans2 = lim f(x)+g(x)=0 lim f(x)—g(x)=0 lim f(x) g(x)=-4
x = 0- x— 0+ x = 0-
3= . f(x) ,
lim =1 lim f(x)+ g(x) = undefined Math@MUT
L x— 0+ g(X) x—>0 |
Ad=(lim f(x)=4) 2=(lim f(x)=5) 3 =(lim f(x)=undefined)
Ans3 = x—4- x >4+ x—>4
|4=( lim fix)=-1.) S5=( lim f(x)=-1.) .6=( lim f(x)=-1.)
x—(-1.5)- x—(-1.5)+ x—(-1.5)
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(
[ , , , N , 4x-1  71\]| Y
d=(lim 3x"—x+2=26) 2=(lim (3x —4x +1)(5x-2)=72) S=lm — =7 M
x—3 X2 o2 2x +2x-3 9 u
64 —x 2—4x+3 1
.4:( lim :-16] .5=(lim —z—j .6=(lim 42 —x =undefined) !
Ans] = x> 64 «/;—8 x> 1 I-x 4 X3 h
| [x-2] el | @
7=(lim |x-2|=1) 8= lim = undefined 9=| lim =2 Y,
x—1 x—=>2 x=2 x—1- x—1 U
33 _ |5x-2]
A0=| lm 7-—=0o A= lim 5 = undefined Math@MUT T
x - 0- |x| X x—>(2/5) 20x =13 x+2 Iy
L
Ad=[1lm f(x)=-4, lim f(x)=4, lim f(x) = undefined ]
x—0- x— 0+ x>0
2=[lim g(x)=35, lim g(x)=5, lim g(x)=5]
x—0- x— 0+ x>0
Ans2 = lim f(x)+g(x)=9 lim f(x)—g(x)=-9 lim f(x) g(x)=20
x— 0+ x—0- x— 0+
3= . fx) 4 :
lim = lim f(x)— g(x) = undefined Math@MUT
L x—0- g(X) 5 x—=0 |
A=(lim f(x)=1) 2=(lim f(x)=2) 3 =(lim f(x)=undefined)
Ans3 = x—2- x— 2+ x—2
4= lim f(x)=-5.) S5=( lim f(x)=-5) .6=( lim f(x)=-5.)
x> (-47)- x> (-47)+ x> (-47)
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I 2x*-3 ]
d=(lim 5x*+2=22) 2=(lim (3+x)(4x*=3x+1)=-11) .3:[lim ; =1j

x—2 x—2 xo2 x +1

yx-1 j} (. x=6 ] |
ool S LN s o=t et

Lo Nmag@®@s~8r gk

Ansl =
. -1 . x=5 1
7=(lim |x+2|=5) 8=/ lim = undefined 9= lim — =—
X3 x>1 L=X X5 |x —3x—10| 7
3 3 , |5x - 4]
A0=| lm —-77=0]| .//=| lim 5 = undefined Math@MUT
x>0+ X |X| x@4/5) 20 —11x—-4 i
i J=[lim f(x)=35, lim f(x)=5, lim f(x)=5] |
x—0- x— 0+ x>0
2=[lim g(x)=-4, lim g(x)=4, lim g(x)=undefined |
x—0- x— 0+ x—>0
Ans2 = lim f(x)+g(x)=9 lim f(x)-g(x)=9 lim f(x) g(x)=-20
x— 0+ x— 0- x—0-
3= . fx) 5 :
lim = lim g(x)— f(x) = undefined Math@MUT
L x— 0+ g(X) 4 x—>0 A
A=(lim f(x)=0) 2=(lim f(x)=1) 3 =(lim f(x)=undefined)
Ans3 = x—1- x— 1+ x—1
|4=( lim fix)=-2)) S=( lim f(x)=-2.) .6=( lim f(x)=-2.)
x—(-1.5)- x—(-1.5)+ x—(-1.5)
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Limit03 Answers for No.646101
(
o o, , 22°-1 31| Y
A=(lim 5x"+4x+2=59) 2=(lm (x*+3)(x*+3x-1)=12) S=lm —— = M
x—3 x> 1 vs4 X>+3x-2 26 a
. x—16 x—13 . p
=| lim =8 lim ———— =6 6=(lim yx-2=1)
x— 16 «/7—4 x—>13 Afx—4-3 x—3 h
Ansl = 5 )
| - fx-1 |+ x -6 @
7=(lim |x+2|=5) 8=| lim = undefined 9= lim —————=5{| 1y
x—3 xo>1 X~ x—> 2+ x—2 U
2 2 _ |3x-2]
A0=| lim —+4+77=o A= lim = undefined Math@MUT T
L x>0+ X |X| x> (2/3) 15x°-=22x+8 11
_ i L
d=[1lm f(x)=-3, lim f(x)=-3, lim f(x)=-3
x—0- x =0+ x>0
=[ lim g(x)=-2, lim g(x)=2, lim g(x)=undefined |
x—0- x— 0+ x>0
Ans2 = lim f(x)+g(x)=-5 lim f(x)-g(x)=-1 lim f(x)g(x)=-6
x—0- x — 0- x— 0+
3= . fx) - :
lim = lim f(x) g(x) = undefined Math@MUT
L x— 0+ g(x) x—>0 |
Ad=(lim f(x)=4) 2=(lim f(x)=5) 3 =(lim f(x)=undefined)
Ans3 = x—5- x— 5+ x—5
|4=( lim fix)=-2)) S=( lim f(x)=-2.) = lim f(x)=-2.)
x—(-1.8)- x—(-1.8)+ x—(-1.8)
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Limit03 Answers for No.646102

(0
| : 2 . 2 . 212%—4 6 ] J
d=(lim 3x"+2=5) 2=(lm (2x"+x)(2x-2)=0) J3=| lim =" M
x—1 x—1 xo 1 x+4 5 4
100 — x Ayx-=5-2 1
.4:( lim —:—2OJ .5:[lim —:—] 6= (lim 4/ -3+ x = undefined) ¢
Ans] x> 100 «/;—10 9 X—=9 4 3 i
_  34x ¥ =8 x+15] @
7=( lim |x+2]|=0) 8=| lim T— = undefined 9=| lim =2 || m
x> (-2) x53 |—3 +x| X3+ -3 +x U
| 3 . [5x—4]
A0=| lim 7-—=o A1=| lim > = undefined Math@MUT T
L x—0- |x| X x> 4/5) 15x"—22x+8 Iy
L'
Ad=[1lm f(x)=-2, lim f(x)=2, lim f(x) = undefined]
x—0- x— 0+ x>0
2=[lim g(x)=-3, Iim g(x)=-3, lim g(x)=-3]
x— 0- x— 0+ x—0
Ans2 = lim f(x)+g(x)=-5 lim f(x)-g(x)=5 lim f(x)g(x)=-6
x— 0- x— 0+ x— 0+
3= flx) 2 ,
im =" lim f(x)+ g(x) = undefined Math@MUT
L x — 0- g(X) 3 x—>0 |
Ad=(lim f(x)=4) 2=(lim f(x)=5) 3 =(lim f(x)=undefined)
Ans3 = x—4- x >4+ x—>4
|4=( lim fix)=-2)) S=( lim f(x)=-2.) .6=( lim f(x)=-2.)
x—(-2.9)- x—(-29)+ x—(-2.9)
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_.‘_(_
[ . 3 2 . 3 2 X 4x+2 7 | )
A=(lm x+4x"+2x—-1=6) 2=(lim (2x —4x -2)(5x-2)=-16) .3=| lim 3 5 =— M
x> 1 x52 vo3 4X+2x +4x 69 u
x—-8 1 x—-4-1 1
.4=(lim Jx :—J .5=[lim —:—J 6=(lim /3 —x = undefined) || !
Ans] — 64 X—04 16 N 2 X3 h
. . |x—2| . |x2—3x+2| | @
7=(lim |x-2|=1) 8=| lim = undefined 9=| lim ————=1 Y,
x—>3 x—2 -X x— 1+ x—1
U
2 2 _ |2 x-3]
A0=| lim —7-—=0 Al=| lim 5 = undefined Math@MUT T
L x— 0+ |X| X x>(3/2) 8x —2x—15 I
_ . (.
d=[1lm f(x)=-1, Iim f(x)=-1, lim f(x)=-1]
x = 0- x— 0+ x—0
2=[lim g(x)=-1, lim g(x)=1, lim g(x)=undefined |
x—0- x— 0+ x—>0
Ans2 = lim f(x)+g(x)=0 lim f(x)—g(x)=0 lim f(x) g(x)=1
x— 0+ x — 0- x— 0-
3= . f(x) ,
lim =-1 lim g(x)— f(x) = undefined Math@MUT
L x— 0+ g(X) x—0 |
Ad=(lim f(x)=2) 2=(lim f(x)=3) 3 =(lim f(x)=undefined)
Ans3 = x—2- x— 2+ x—2
4= lim f(x)=-3.) S=( lim f(x)=-3.) .6=( lim f(x)=-3.)
x—(-3.2)- x—(-3.2)+
[Page = 0027]

x—(-3.2)
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_.‘_(_
| : ) : ) 2 C4x'+3P—4x 288)]| 7
Ad=(lim 5x"=20) 2=(lim (4x"-4)(x"-3x+2)=0) 3= lim = M
x—2 x—>2 x4 4x+1 17 4
49 — x 1—-4/x+2 -1
.4=(lim =-14] .5=[ lim —:—] 6=(lim y/x—1=1) ¢
Ans] — X—>49 «/7—7 vy x+1 2 X2 h
. . 3—x . x—1 1) | @
7=( lim |x-1]|=4) 8= lim T—— = undefined 9=|lim —————=— Y,
x> (-3) xo3 |73 +x| x> - |x +3x—4| 5 U
2 2 . 5xX°+18x-8
A0=| lim v—-—=0| .I/=| lim = undefined Math@MUT T
L x— 0+ |X| X x—(2/5) |5X—2| 11
L
Ad=[lim f(x)=-1, lim f(x)=1, lim f(x) = undefined]
x—0- x— 0+ x>0
2=[lim g(x)=4, lim g(x)=4, lim g(x)=4]
x—0- x— 0+ x>0
Ans2 = lim f(x)+g(x)=3 lim f(x)-gx)=-3 lim f(x)g(x)=4
x—0- x— 0+ x— 0+
3= o f(x) -1 o f(x
lim ——=— lim = undefined Math@MUT
L x —0- g(x) 4 x—>0 g(X) |
Ad=(lim f(x)=5) 2=(lim f(x)=06) 3 =(lim f(x)=undefined)
Ans3 = x—5- x— 5+ x—5
|4=( lim fix)=-2)) S=( lim f(x)=-2.) .6=( lim f(x)=-2.)
x—(-2.7)- x—(-2.7)+
[Page = 0028]

x—(-2.7)
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(
I _ , _ , , 22X —4x+4 20) || Y
d=(lim 5x"+x+1=49) 2=(lim (3x"+3)(x"+3x—-1)=510) I=|lim —————————=__ M
x—3 x—=3 x—>4 5x-1 19 a
4—x S5—4x+4 -1
.4:(lim :4] .5:[ lim —:—] .6=(lim 4/ -3 + x = undefined) !
x4 2—4lx roo x—21 10 x> 1 h
Ansl = 5 ,
] ) 1—x ) |x —2x—3| @
7=( lim |x-2|=4) 8=| lim T = undefined 9=| lim —————=4 M
x> (-2) xo 1 X—1| X3+ -3 +x U
4 4 _ 12x°+13x—4
A0=| lim ——77=-0| .II=| lim = undefined Math@MUT r
L x—0- X |x| x> (1/4) |4x—1| 41 )
~ i L
Ad=[1lim f(x)=-4, lim f(x)=-4, lim f(x)=-4]
x—0- x— 0+ x>0
2=[lm g(x)=-2, lim g(x)=2, lim g(x)=undefined |
x—0- x— 0+ x—>0
Ans2 = lim f(x)+g(x)=-2 lim f(x)—g(x)=-2 lim f(x)g(x)=-8
x— 0+ x—0- x— 0+
3= - fx) :
lim =2 lim f(x)+ g(x) = undefined Math@MUT
L x — 0- g(X) x—>0 |
A=(lim f(x)=3) 2=(lim f(x)=4) 3 =(lim f(x)=undefined)
Ans3 = x—4- x >4+ x—>4
4= lim f(x)=-6.) S=( lim f(x)=-6.) .6=( lim f(x)=-6.)
x> (-5.4)- x> (-54)+ x> (-5.4)
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J=(lim xX*—x-3=3)

—4
2=(lim 2x +2x"+1)(x+1)=292) lim a

-3{ 7 .
xo3 Sx —4x+3

(
2)
M
x—3 x—3 a
100 — x l—4x+4 1
.4:( lim —:20] .5:( lim —:—j 6=(lim 4/ 1—x = undefined) ¢
Ans] — x>100 10 —4/x 1 (3)  TI—X 2 X3 h
| o x- | x-1 | @
7=( lim |x+3|=1) 8=/ lim = undefined 9= lim — =-1|||
¥ (2) 1 I—x io1- | K =3 x+2|
: 2 . |2x—1| U
A0=| lim ——-yy=-0o| . [I=| lim ~—— ——  =undefined Math@MUT T
L x—>0- X |X| x>(1/2) 2x =Tx+3 Iy
i i L '.!(_
d=[1lim f(x)=-2, lim f(x)=-2, lim f(x)=-2]
x = 0- x— 0+ x—0
2=[lim g(x)=-5 lim g(x)=35, lim g(x)=undefined |
x—0- x— 0+ x>0
Ans2 = lim f(x)+g(x)=3 lim f(x)-g(x)=3 lim f(x)g(x)=10
x— 0+ x—0- x— 0-
3= R 2
lim = lim g(x)— f(x) = undefined Math@MUT
L x— 0+ g(X) 5 x—>0 |
Ad=(lim f(x)=2) 2=(lim f(x)=3) 3 =(lim f(x)=undefined)
Ans3 = x—2- x> 2+ x—2
|4=( lim fi(x)=-3.) S=( lim f(x)=-3.) .6=( lim f(x)=-3.)
x> (:37)- x> (3.7)+ x—(:37)
BECCIEEIEIID6'010:010:010:010:010:0:0:0:0:0.0:0.0:0:0:0:0:0:0:0.00.0:0:0.0.0.0.:0:0.0.0.0.0:0.0.0.0.0.0.0:0.0.0.0.0.0:0.0.0.0.0:0.0:0.0.:0.0.0.0.0.0:0.0'0.0:0.0.0:0.0.0.0:0.0.0.0:0:0'0.0:0.0.0:0.0.0.0.0.0:0.0'¢

X

aYy
36




X Math@MUT XXXXXXXXXXXXXXXXKXXXXXXKXXXXXXKXX XXX XXX XXX KKK KKK KKK KKK KKK KKK KKK XXX KKK KKK XXX KKK KKK XKXXKXKXXME/1-6400504-00031XX
Limit03 Answers for No.646107

_.‘_(_
I 3 3 2 x—4 I
d=(lim 5x-3x+2=128) 2=(lim (4x —-2x"+4x)(3x+2)=1122) .3=|lim 5 =0 M

x—3 x—3 x4 Sx-2x+4 a
x— 64 x—38
.4=(hm, =46] .5=(hm,———————=4] 6=(lim +/-3 +x = undefined)| | !
x>64 8—4/X x>8 Afx—4 -2 x> 1 h
Ansl = 2 )
| |34 NEa) @
7=(lim |x-1|=0) 8= lim ——— = undefined 9=| lim =6 Y,
x—1 x—3 3-x x— 3- -3 +x
) 4 4 ) |3x—2| U
A0=| lim 7—-——=o Al=| lim 5 = undefined Math@MUT T
L x—0- |x| X x—>2/3) 15x"=22x+8 1y
_ . L
d=[1lm f(x)=5, lim f(x)=5,lim f(x)=5]
x = 0- x— 0+ x—>0
2=[lm g(x)=-2, lim g(x)=2, lim g(x)=undefined |
x—0- x— 0+ x>0
Ans2 = lim f(x)+g(x)=3 lim f(x)-g(x)=7 lim f(x) g(x)=10
x— 0- x— 0- x— 0+
3= ftx) 5 :
m == lim g(x)— f(x) = undefined Math@MUT
L x— 0+ g(X) 2 x—>0 |
Ad=(lim f(x)=4) 2=(lim f(x)=5) 3 =(lim f(x)=undefined)
Ans3 = x—5- x— 5+ x—5
|4=( lim fix)=-2)) S=( lim f(x)=-2.) .6=( lim

f(x)=-2.)
x—(-1.9)- x—(-1.9)+ x—(-1.9)
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(
I ) ) ] 5 ) ¥=2x+3x 2 11
Ad=(lim 2x"-3x=-1) 2=(lm 2x"+x-1)2x+3)=10) 3=|lm — =7 M
x—1 x—1 x—1 3x+2 5 a
-8 -1 13 -x
.4=[lim x =—] .5=[lim —=—6] 6=(lim {/x-2=1) !
roes 04—x 16 x13 A/x—4 -3 X3 h
Ansl = ,
| -1 | -5 1| @
7=( lim |x+2|=1) 8=/ lim = undefined 9= lim —————=—||| i
x> (-1) N x5+ |x —6x+5| 4 U
1 . 3xX°+2x-8
A0=|lim ——=77=-00| .Il=| lim ——_-— 7  =undefined Math@MUT r
L x>0 X |x| x> (4/3) |3X—4| 110
— _:I(_
d=[1lm f(x)=1, Iim f({x)=1, lim f(x)=1]
x —0- x— 0+ x—>0
2=[lim g(x)=-4, lim g(x)=4, lim g(x)=undefined |
x—0- x— 0+ x—>0
Ans2 = lim f(x)+g(x)=5 lim fi(x)—g(x)=5 lm f(x)g(x)=4
x— 0+ x—0- x— 0+
3= . fte) -l - fx)
lim ——=— lim = undefined Math@MUT
L x—0- g(x) 4 x—0 g(X) |
A=(lim f(x)=1) 2=(lim f(x)=2) 3 =(lim f(x)=undefined)
Ans3 = x—1- x— 1+ x—1
|4=( lim f(x)=-5.) S=( lim f(x)=-5.) .6=( lim f(x)=-5.)
x—(-5.7)- x—(-5.7)+ x—(-5.7)
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2=(lim (¥*=2x)(3x°+2x)=99)

x> (-53)+

) x’=3
3=| lim
x—3 x=2

.

x—3 x—3
8 — -1 3-4x+1 1
.4:[ lim ﬁ:—] .5=[lim —x:_] 6=(lim /3 —x = undefined)
Ans] = rses X—64 16 x—8 8—x 6 x—3
— -5 1
7=(lim |x+1]=3) .8=(lim | |=undeﬁnedj .9=(lim 2x—=—J
x>2 2 27X iose | =3x—10] 7
2 2 , |5 x— 4]
A0=| lim ——-77=0 Al=| lim 5 = undefined Math@MUT
L x>0+ X |X| x>(4/5 20x " —11x—-4
Ad=[1lm f(x)=-1, lim f(x)=1, lim f(x) = undefined ]
x—0- x— 0+ x—0
2=[lim g(x)=-4, im g(x)=-4, lim g(x)=-4]
x— 0- x— 0+ x—0
Ans2 = lim f(x)+g(x)=-5 lim f(x)-g(x)=5 lim f(x)g(x)=4
x = 0- x— 0+ x = 0-
3= o flx) -l :
lim = lim g(x) - f(x) = undefined Math@MUT
L x— 0+ g(X) 4 x—>0 |
Ad=(lim f(x)=3) 2=(lim f(x)=4) 3 =(lim f(x)=undefined)
Ans3 = x—4- x >4+ x—>4
| 4=( lim f(x)=-6.) 5=( lim f(x)=-6.) .6=( lim f(x)=-6.)
x—(-5.3)
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(
. 3 2 . 2 o 3x —x+2 11 7
d=(lim 3x -3x"+x-4=-3) 2=(lim (2x+4)(5x-2)=18) JI=lim ———=23 M
x—1 [ x—>1 x—>4 X = a
8—4x -1 7—-x ¢
4 =| lim =_J .5:[hm'______—:4) 6= (lim 42 —x =undefined)
Ans] = (m»M x—64 16 xo7 A/-3+x -2 x—>3 h
| _x-2] | -2 1\ [| @
7=( lim |x-2|=4) 8=| lim = undefined 9= lim —5————==||| i
x> (-2) rs2 2-X xa%|x +2x—8| 6 U
5 5 . 3x—4]
A0=| lim —+77=0 Al=| lim 5 = undefined Math@MUT T
L x—>0- X |x| x—4/3) 3x —13x+12 1y
L'
Ad=[lim f(x)=-1, lim f(x)=1, lim f(x) = undefined]
x = 0- x— 0+ x—>0
2=[lim g(x)=4, lim g(x)=4, lim g(x)=4]
x—0- x— 0+ x>0
Ans2 = lim f(x)+g(x)=3 lim f(x)—-g(x)=-3 lim f(x)g(x)=4
x—0- x— 0+ x — 0+
3= . fxe) -l :
lim = lim f(x)+ g(x) = undefined Math@MUT
L x — 0- g(X) 4 x—>0 |
Ad=(lim f(x)=3) 2=(lim f(x)=4) 3 =(lim f(x)=undefined)
Ans3 = x—4- x >4+ x—>4
| 4=( lim f(x)=-5) S5=( lim f(x)=-5.) .6=( lim f(x)=-5.)
x—(-44)- x—(-44)+
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I . ) o sy —2x+3x 300)|| 7
A=(lim 3x"-3x-1=5) 2=(lm (x"+x+3)(x+3)=20) 3= lim = M
x—>2 x—1 x—4 3x-1 11 a
— Ayx-=5-3 1
.4:[1im =4J .5:( lim —:—) 6=(lim +/x -2 = undefined) f
Ansl = x4 2—ofx o1e X 14 6 X2 h
- x—4 -1 | @
.7=( lim |x+2|—l) (hm ——undeﬁned) 9= (llm — J M
x> (-3) xo3 |73 X| x4 |x —16| -
2 2 |6x—1]
A0=| lim ——77=0 lim = undefined Math@MUT T
L x>0+ X |x| x> (1/6) 6x —13x+2 Iy
_ . L
d=[1lm f(x)=-3, im f(x)=-3, lim f(x)=-3]
x = 0- x— 0+ x—0
=[ lim g(x)=-4, lim g(x)=4, lim g(x)=undefined |
x—0- x— 0+ x>0
Ans2 = lim f(x)+g(x)=1 lim f(x)—-g(x)=1 lim f(x)g(x)=12
x— 0+ x—0- x— 0-
3= . fx) 3 :
lim = lim f(x)— g(x) = undefined Math@MUT
L x— 0+ g(X) x—>0 |
A=(lim f(x)=3) 2=(lim f(x)=4) 3 =(lim f(x)=undefined)
Ans3 = x—4- x >4+ x—>4
|4=( lim f(x)=-6.) .5=( lim f(x)=-6.) 0= lim f(x)=-6.)
x—(-5.7)- x—(-5.7)+ x—(-5.7)
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J=[lim f(x)=-1, lim f(x)=-1, lim f(x)=-1]

x—(-52)- x—=(-52)+

_ ) , , , 55X +4x°-3x 372
Ad=(lim 5x"-3=42) 2=(lm (5x"-2x-4)(3x —x—-3)=735) .3=| lim =
x—3 x—3 x—4 5x-3 17
81 —x 5—-4/x+1 1
.4:(lim :ISJ .5:(lim —:—j 6= (lim +/x —2 = undefined)
Uns] = x— 38l 9—«/; 24 24-x 10 xo2
nsl = 5
, R P +2x-15]
7=(lim |x+2|=5) 8=\ lim T = undefined 9=| lim =8
x—3 x—1 X—1| x =3+ -3+x
3 03 _ |3x-1]
A0=| lim —+77=0 A= lim 5 = undefined Math@MUT
L x>0- X |x| xo>1/3) 15x —17x+4

x—0- x— 0+ x>0
2=[lim g(x)=-4, lim g(x)=4, lim g(x)=undefined |
x—0- x— 0+ x>0
Ans2 = lim f(x)+g(x)=-5 lim f(x)—-g(x)=-5 lim f(x)g(x)=4
x = 0- x— 0+ x = 0-
3= o flx) -l :
lim = lim g(x) - f(x) = undefined Math@MUT
L x— 0+ g(X) 4 x—>0 |
Ad=(lim f(x)=3) 2=(lim f(x)=4) 3 =(lim f(x)=undefined)
Ans3 = x— 3- x— 3+ x—3
A4=(C lim f(x)=-5) S=( lim f(x)=-5) .6=( lim f(x)=-5.)
x—>(-5.2)
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2=(lim (2x -2x-4)(x+4)=-20) .3=| lim = undefined
x—1 x—>3 -3 +x
3—4/x+1 -1
.5:[lim —:—J 6= (lim +/3 —x = undefined)
x—>8 x—28 6 x—>3
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A=[lim f(x)=-1, lim f(x)=1, lim f(x) = undefined]
x—0- x— 0+ x>0
2=[lim g(x)=-2, lim g(x)=-2, lim g(x)=-2]
x—0- x— 0+ x—=0
Ans2 = lim f(x)+g(x)=-1 lim f(x)—g(x)=3 lim f(x)g(x)=2
x— 0+ x = 0+ x—0-
3= . flx) 1 - f(x)
lim =_ lim = undefined Math@MUT
L x—0- g(X) 2 x—0 g(X) |
d=(lim f(x)=2) 2=(lim f(x)=3) 3 =(lim f(x)=undefined)
Ans3 = X —2- X2+ xX—2
| 4=( lim f(x)=-3.) S5=( lim f(x)=-3.) .6=( lim f(x)=-3.)
x> (-3.8)- x> (38)+ x> (-3.8)
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_:_(_
i 2 11 2)
. 5 . 5 . X +4
A=(lim 5x"+x—-4=44) 2=(lm (5x"+x-1)(x—-1)=21) .3=(hm =-4] M
x—>3 x—2 x—2 x—4 a
] 100 — x ) -1 —-x ] ¢
4= lim —==20 S=| lim —F—=4 .6=(lim +/ 3 —x =undefined)
Ans] — x—>100 10 —4/x xo(-1) 2—4x+5 X3 h
) ) |x—1| ) |x2—7x+12| | @
7=( lim |x-2|=3) 8=| lim = undefined 9=/ lim =1 ||| a
x> (-1) i1 x—1 x—3- —3+x
11 |5x—1] v
A0=| Iim 77—-—"= A= lim 5 = undefined Math@MUT T
L x = 0- |x| X x> (1/5) 20x"+11x—-3 Iy
L




A=[lim f(x)=-4, lim f(x)=4, lim f(x) = undefined]
x—0- x— 0+ x>0
2=[1lim g(x)=5, lim g(x)=5, lim g(x)=5]
x—0- x— 0+ x—0
Ans2 = lim f(x)+g(x)=9 lim fx)-g(x)=-9 lim f(x)g(x)=-20
x— 0+ x—0- x— 0-
3= . fix) 4 o fx
lim = im = undefined Math@MUT
L x— 0+ g(x) 5 x—0 g(X) |
Ad=(lim f(x)=3) 2=(lim f(x)=4) J3=(lim f(x)=undefined)
Ans3 = x = 3- x—3+ x—3
|4=( lim f(x)=-3.) S=( lim f(x)=-3.) = lim f(x)=-3.)
x> (-33)- x> (33)+
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C o, _ 2x+4 %
J=(lim 5X°+3x+2=146) .2=(lim (X*+2x+2)(3x+4)=100) 3=/ lim = M
x—3 x—>2 x—2 Sx-2 a
x—9 2—-4x+1 1

.4=[Mn‘————=6J 5=[hm'——————=—J 6=(lim +/-3 +x = undefined)|| !
Ansl = x29 3-4x X3 3-x 4 x> 3 h
) ] 3-x ) x—1 1) [ @

7=(lim |x-1|=2) 8=| lim T = undefined 9= lim ————=—|||

x3 ey |3 +x] ol [P +3x-4| 5

5 5 , |5x-2] 4

10=| lim —+7 7=» Al=| lim 5 = undefined Math@MUT T
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Ad=[1lim f(x)=-4, lim f(x)=4, lim f(x) = undefined ]
x—0- x— 0+ x—=0
2=[1lim g(x)=-2, lim g(x)=-2, lim g(x)=-2]
x—0- x— 0+ x—0
Ans2 = lim f(x)+g(x)=2 lim fx)—g(x)=-2 lim f(x)g(x)=-8
x— 0+ x—0- x— 0+
3= f(x) . gx)
lim = undefined Math@MUT
L x—0- (X) x—0 f(x) |
d=(lim f(x)=2) 2=(lm f(x)=3) J3=(lim f(x)=undefined)
Ans3 = x = 3- x—3+ x—3
|4=( lim f(x)=-5.) S=( lim f(x)=-5.) 6= lim f(x)=-5.)
x> (-44)- x> (-44)+ x> (-44)

X [Page 0039]

),0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:0.0:9:9.0:9:9.0:9:0.0:9:9.0:0:9.0:0:9.0:0:0.0:9:9.0:9:9.0:9:9.0:0:9.0:0:9.0,0:9.0:0:9.0:0:0.0:9:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXKXXKX XXX KKK KKK KKK KKK KKK KKK KKK KKK KKK KKK KKK XKKXKKKMO6/1-6400504-00040XX

Limit03 Answers for No.646116

x—2

x—9
=[lim
AI’ZS]Z x—9 3—

x> (-1)

.10:( lim
x— 0+

d=(lim 3xX’+4x"+4x—1=47)

=

7=( lim |x+1]|=0)

11 j
_:0

o 5 B 3x+x+4
2=(lm (3x"—x+2)(x—-2)=0) lim

x—2

] 14 —x
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J=[lim f(x)=-2, lim f(x)=-2, lim f(x)=-2]

x—0

x—0-

x— 0-

x— 0+

x— 0+

x—0

2=[lim g(x)=-2, lim g(x)=2, lim g(x)=undefined |

Ans2 = lim f(x)+g(x)=-4 lim flx)-g(x)=-4 lim f(x)g(x)=4
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3=
lim fx) =-1 lim @:undeﬁned Math@MUT
L x— 0+ g(x) x—0 f(x) |

d=(lm f(x)=5) 2=(lim f(x)=6) .3=(lim f(x)=undefined)

X —5- x5+ x—>5
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4= im ——F—
Ans] — 64 8—4lX
7=(lim |x+3|=5)
x—2
) 5 5
A0=| Im — =77
x—>0- X |X

|

=

2=(lim (x+1)(2x*=2x-1)=-2)
x—1

] -2 —x

lim

o

lim

v 53 5xX°—2x+3

1]
42

.6 =(lim +/2 —x = undefined)

o

xo(2) 1 -

1oafxe3

:

.8:[lim ;=undeﬁned] .9:{
xX—>2 x_2|
) |3x—2|
Al=| lim 5 = undefined
x>2/3) 3x +10x-8

x—3

] -3 +x 1
lim — =_
X3+ |x +2x—15| 8

Math@MUT

|

N

I O SR O NN S Y




i Ad=[1lm f(x)=2, lim f({x)=2, lim f(x)=2]
x—0- x— 0+ x—>0
2=[1lim g(x)=-3, lim g(x)=3, lim g(x)=undefined ]
x—0- x— 0+ x—0
Ans2 = lim f(x)+g(x)=5 lim f(x)—g(x)=5 lim f(x)g(x)=6
x— 0+ x—0- x— 0+
S=l fly o2
lim = lim f(x) g(x) = undefined Math@MUT
L x = 0- g(x) x—=>0 |
d=(lim f(x)=2) 2=(lm f(x)=3) J3=(lim f(x)=undefined)
Ans3 = x—2- x—2+ x—2
|4=( lim f(x)=-2)) S=( lim flx)=-2.) .6=( lim f(x)=-2.)
x> (2.8)- x> (28)+ x—(28)
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Limit03 Answers for No.646118

J=(lim 5x°-3x+2=38) .2

x—3

p [1, 16 —x Sj
. = m = -
Ans] = x> 16 «/;—4
7=( lim |x+1|=1)
x> (-2)

[im +-1-0)
A0=| Im —-77=0
L x>0+ X |X|

=(lim (3x°+2x-4)(3x"+3x—4)=928)

x—3
5 [1_ x+4 2)
. = m - — = -
xo>(4) I —4/x+5
) |—3+x|
8= lim = undefined
x3 TItTX
) 3x —Tx+2
Al=| lim ——7— 7  =undefined
x—(1/3) |3X—1|

3=

13

4x° —4x+2 QJ_
5x+3

(lim
x—2

6=(lim 4/3-x=4/2)

x—1
) |x2—1|
9=| lim =-2
x—1- x—1
Math@MUT

=
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i Ad=[1lim f(x)=-3, lim f(x)=-3, lim f(x)=-3] ]
x—0- x— 0+ x—0
2=[1lim g(x)=-3, lim g(x)=3, lim g(x)=undefined |
x—0- x— 0+ x—0
Ans2 = lim f(x)+g(x)=0 lim f(x)-g(x)=0 lim f(x)g(x)=9
x— 0+ x—0- x—0-
S= ) - flx
lim =-1 lim = undefined Math@MUT
L x— 0+ g(X) x—>0 g(X) |
d=(lim f(x)=2) 2=(lm f(x)=3) J3=(lim f(x)=undefined)
Ans3 = x = 3- x—3+ x—3
|4=( lim f(x)=-5.) S=( lim f(x)=-5.) 6= lim f(x)=-5.)
x—(-43) x> (-43)+
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_1_
i x—4 11 7
. 3,2 . 3 2 .
A=(lim 5x"+x"+2x-2=6) 2=(lim (x -2x")(x+1)=36) S={lm — =0 M
x> 1 x—3 x4 Sx —4x-4 4
10—4/x -1 , 4—x , .
A= lm —— = S=|1lim —F—=6 H=(lim 4/2-x=1)
Ans] — x—>100 X—100 20 x4 3—4/x+5 x> 1 h
| EEY [ 16] | @
7=( lim |x+1|:2) 8=| lim = undefined 9= lim —=-8 M
x> (3) i1 1—x s x—4 U
4 4 . [4x—1]
A0=| lim —+77=0 Al=| lim 5 = undefined Math@MUT T
x—>0- X |X| x> (1/4) 12x"=23x+5 Iy
L'




Ans2 =

J=[lim f(x)=-1, lim f(x)=-1, lim f(x)=-1]

x— 0-

x— 0-

lim f(x)+g(x)=3

x — 0+

x— 0+ x—0

lim f(x)—-g(x)=-5

x—0

2=[lim g(x)=-4, lim g(x)=4, lim g(x)=undefined |

x> (-1.7)

lim f(x)g(x)=4
x— 0+ x— 0+ x— 0-
3= o) ] g(x)
lim =— lim — —— = undefined Math@MUT
L x—0- g(X) 4 x—0 f(x) |
d=(lim f(x)=2) 2=(lim f(x)=3) J3=(lim f(x)=undefined)
Ans3 = x—3- x— 3+ x—>3
|4=( lim flx)=-2.) S5=( lim f(x)=-2.) O=( lim f(x)=-2.)
x> (-1.7)- x> (-1.7)+
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d=(lim 3xX’+4x"+4=44) 2=(lim (5x°+4x+4)(5x°=2x)=2379)
x—2

x—3
] 49 — x 4—-A/x+3 -1
4=| lim =-14 — ="
x> 49 x—13 8

1/7 -7 0= [xli)rrll3

) 4x+3 5
3=| lim 5 =—
ro3 4x +x 13

.6=(lim +/2 —x =undefined)

Ansl =

xX—2
. ) x—1 ) x—4 1
7=( lim |x+2|:l) 8=| lim 77 =undefined 9= lim =1
x> (-1) x> 1 X—1| x> 4+ |x —16| 8
. | . [5x-4]
A0=| lim —-77=0 11=| lim 5 = undefined Math@MUT
L x>0+ X |x| x4/5 15x"=17x+4
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Ad=[1lim f(x)=-4, lim f(x)=4, lim f{(x) = undefined ]
x—0- x— 0+ x>0
2=[lim g(x)=2, lim g(x)=2, lim g(x)=2]
x—0- x— 0+ x—0
Ans2 = lim f(x)+g(x)=6 lim flx)—g(x)=-6 lim f(x)g(x)=-8
x— 0+ x—0- x> 0-
S= L ) g
lim =2 lim = undefined Math@MUT
L xo0r g(x) xo f(x) |
d=(lim f(x)=1) 2=(lm f(x)=2) J3=(lim f(x)=undefined)
Ans3 = x—1- x—> 1+ x—>1
|4=( lim fi(x)=-1.) S=( lim flx)=-1.) .6=( lim f(x)=-1.)
x> (-12)- x> (-12)+ x—(-12)
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1
1

I _ . _ , X +4x+3 35)
Ad=(lim 2x" -2x"+3x=3) 2=(lim (x+1)(2x" —x+1)=21) S=llim — =7
x> 1 x—2 x4 Sx+3 83

.4:[1im o1 2) .5:(lim SoNxt2 iJ 6=(lim /x-2=1)

x—1 1—1/;_- x—>23 x—23 _10 x—3

Ansl = \
. . |—3 +x| ) x—1
7=(lim |x-2|=1) 8=| lim = undefined 9= lim —5————=-1
x—>1 x—>3 -3 +x x—1- |X —3x+2|
2 2 _ 3x+5x—12
A0=| Iim 77—-—"= A= lim = undefined Math@MUT
L oo x| x o |3x-4] i
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[ d=[1lim f(x)=2, lim f(x)=2, lim f(x)=2]
x—0- x— 0+ x>0
2=[lim g(x)=-1, lim g(x)=1, lim g(x)=undefined |
x—0- x— 0+ x—0
Ans2 = lim f(x)+g(x)=3 lim f(x)-g(x)=1 lim f(x) g(x)=-2
x— 0+ x— 0+ x—0-
3= M) .
lim =-2 lim f(x)— g(x) = undefined Math@MUT
L x—0- g(X) x—0 |
d=(lim f(x)=5) 2=(lim f(x)=6) 3 =(lim f(x)=undefined)
Ans3 = x—5- x5+ x—5
|4=( lim fix)=-4) S=( lim flx)=-4) .6=( lim f(x)=-4.)
x> (-4.9)- x> (-49)+ x> (-4.9)
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(
[, ' , , . x+1 4 %
A=(lim 5x -4x +x+4=30) 2=(lim 3x +2x+4)(3x +x+2)=54) 3=|lm — =" M
x—>2 xo1 3 2x —x+4 19 a
) 49 — x ) x—10 ) /
4 =] lim =14 S=| lim ———— =6 .6=(lim 4/ x—2 =undefined)
Ans] x—49 7—«/; x>10 yx—1-3 x> 1 h
nsl = ,
) ) | - | i |x2—2x—8| @
.7 =(lim |x—1|:1) .8=| lim = undefined Y=lim ———=-6 M
x—2 x—2 2—x x—4- x—4
2 2 _ [5x-1] U
A0=| lim —+77=0 Al=| lim 5 = undefined Math@MUT T
x—>0- X |x| x> (1/5) SxT—11x+2 oy
0




i J=[1lim f(x)=1, lim f(x)=1, lim f(x)=1] |
x—0- x— 0+ x>0
2=[lim g(x)=-4, lim g(x)=4, lim g(x)=undefined |
x—0- x— 0+ x—0
Ans2 = lim f(x)+g(x)=5 lim f(x)—g(x)=-3 lim f(x)g(x)=-4
x— 0+ x = 0+ x—0-
3= o fx) -l . &x)
lim = lim — — = undefined Math@MUT
L o gx) 4 xo f(x) §
d=(lim f(x)=5) 2=(lim f(x)=6) 3 =(lim f(x)=undefined)
Ans3 = X —5- x5+ x—5
| 4=( lim f(x)=-5) S5=( lim f(x)=-5.) .6=( lim f(x)=-5.)
x> (-55) x> (5.5 x> (-5.5)
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(
I . 3 2 . 3 5 . ¥ -3x-3 -5 117
A=(lim x’=2x"+2=11) 2=(lim (4x+1)(2x -2x"+4)=20) 3=|lm —— = M
x—3 x> 1 vo2 dx +4x-1 23 a
x—100 2—alx+5 1

.4:( lim —:20j .5:[ lim —:—J 6=(lim //x-1=1) !
Ans] — x> 100 «/;—10 P 4 2 h
. . |x—2| i |x2—2x—8| | @
7=( lim |x—1|:3) 8= lim = undefined Y= lm ———=-6 M
x—(-2) xX—2 x—=2 X — 4- x—4 U

4 4 . |3x-2|
A0=| lim —+77=0 AlI=| lim > = undefined Math@MUT T
L x—>0- X |X| x2/3) 15x —Tx-2 11

I
~
L



[ J=[1lim f(x)=2, lim f(x)=2, lim f(x)=2] ]
x— 0- x— 0+ x—>0
2=[lim g(x)=-4, lim g(x)=4, lim g(x)=undefined |
x—0- x— 0+ x—0
Ans2 = lim f(x)+g(x)=-2 lim f(x)-g(x)=-2 lim f(x)g(x)=8
x—0- x— 0+ x— 0+
A= o 1
lim = lim f(x) g(x) = undefined Math@MUT
L x—0- g(x) 2 x—=>0 a
d=(lim f(x)=4) 2=(lm f(x)=5) 3 =(lim f(x)=undefined)
Ans3 = x—4- x — 4+ x—>4
| 4=( lim flx)=-4) S5=( lim f(x)=-4.) .6=( lim f(x)=-4.)
x> (-4.2)- x> (42)+ x> (-42)
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1
1

A
| : 3 2 : 3 4 -3x-4 48] )
J=(lim 3X°+3x+3x=117) 2=(lim (35X +4x-3)(x+4)=1008) .3=|lim —————=—1|[| M

x—3 x—3 x—>4 4x-3 13 a
4 —alx -1 5—4/x+1 1
.4=[lim fz—j .5=[lim —:—J 6=(lim /3 —x = undefined)| | !
16 X—16 8 24 24-x 10 X3 h
Ans]= 2 B

. . |x—2| . |x —6x+5| @
7=(lim |x-1|=0) 8=/ lim = undefined 9=|lim ——————=4 |||y
x—1 xX—2 -X x—1- x—1 U

5 5 _ 5x°+6x—8
0= lim T7-—=0 [1=| lim ————7 =undefined Math@MUT T
L x— 0+ |X| X x—>(4/5) |5X—4| . 2)
i




2=[lim g(x)=-4, lim g(x)=4, lim g(x)=undefined |

J=[lim f(x)=5, lim f(x)=5, lim f(x)=5]
x— 0- x— 0+ x—>0
x—=>0

x— 0- x— 0+

Ans2 = lim f(x)+g(x)=1 lim f(x)—g(x)=9 lim f(x) g(x) =20
x—0- x—0- x— 0+
S= L fo 5
lim =— lim f(x) g(x) = undefined Math@MUT
L x— 0+ g(x) 4 x—=>0 |
Ad=(lim f(x)=3) 2=(lim f(x)=4) J3=(lim f(x)=undefined)
Ans3 = x = 3- x—3+ x—3
|4=( lim f(x)=-2)) S=( lim flx)=-2.) .6=( lim f(x)=-2.)
x> (-2.6)- x> (2.6)+ x> (26)
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x—1

8

d=(lim X —4x"+2x-2=-3) 2=(lim (4x'=2x+3)(3x" +2x—-4)=957)

J_—4_1]

.4=[lim =
r>16 X—16

Ansl =
7=( lim |-3+x|=5)
x> (-2)
5 5
A0=| lm ——7—7
L x—>0- X |x

=

J

x—3

) 5—-4x+1 -1
S=|lim ——————=—
X 24 x—24 10
) |—3 +x|
8= lim = undefined
x—=3 3-x
_ 3x5—11x+10
A= lim = undefined
x—(5/3) |3x—5|

5K 43x+1 145)]
3= lim =
X3 x+3 6
6 =(lim 4/ -3 + x = undefined)
x—>1
|21 ’
9= lim =-2
x—>1- X—
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A=[lim f(x)=-4, lim f(x)=4, lim f(x) = undefined]
x—0- x— 0+ x—=>0
2=[lim g(x)=-2, lim g(x)=-2, lim g(x)=-2]
x—0- x— 0+ x—0
Ans2 = lim f(x)+g(x)=2 lim flx)—g(x)=-2 lim f(x)g(x)=8
x— 0+ x— 0- x—0-
S=EL L W) - f(x)
lim =-2 lim = undefined Math@MUT
L x— 0+ g(X) x—>0 g(X) _
d=(lim f(x)=4) 2=(lm f(x)=5) 3 =(lim f(x)=undefined)
Ans3 = x—4- x — 4+ x—>4
| 4=( lim f(x)=-5) S5=( lim f(x)=-5.) .6=( lim f(x)=-5.)
x> (-5.2)- x> (52)+ x> (-52)
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o

| ' , _ . 28 -3x-3 ]|V

A=(lim 2x"+1=19) 2=(lim (5x—x)(x—2)=-4) I=lm ——/—————=2 M

x—3 x—>1 x—>1 -3 +x a

4—4x 1 x—23

.4=[lim f:_] .5=(lim —:40) 6=(lim /2 —x = undefined)| | !

Ans] — 16 16-x 8 1523 S—4/x+2 X2 h

7=( lim |x+3]|=1) 8 (1' X ndefi dj 9 (1‘ X1 '1)’ @
7=(lim |[x+3|= 8=| lim 7= undefine 9=|1lim 7V =7

x> (-2) X3 —3+x| x4 |x2—6x+8| 2 Ag

3 3 , 6x°—7x+2
A0=| lim 7 7-—=0w| .Il=| lim ———  =undefined Math@MUT T
L x = 0- |x| X x—(2/3) |3X—2| 11

I
~
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A=[lim f(x)=-3, lim f(x)=3, lim f(x) = undefined]
x—0- x— 0+ x>0
2=[lim g(x)=3, lim g(x)=3, lim g(x)=3]
x—0- x— 0+ x—0
Ans2 = lim f(x)+g(x)=6 lim f(x)—g(x)=-6 lim f(x)g(x)=-9
x— 0+ x> 0- x = 0-
S= L f) .
lim =1 lim f(x) g(x) = undefined Math@MUT
L x— 0+ g(x) x—0 |
d=(lim f(x)=4) 2=(lim f(x)=5) 3 =(lim f(x)=undefined)
Ans3 = x—5- x5+ x—5
|4=( lim fix)=-4) S=( lim flx)=-4) .6=( lim f(x)=-4.)
x> (-32)- x> (32)+ x> (-32)
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A
) 5 ) PO ) 2x —4x"+2x )
d=(lim 4x+2=6) 2=(lim 3 -x>+4)(2x+2)=608) .3=| lim —0||| M
x—1 x—3 x—1 Sx-2 a
8—4x 1 Ax=2-5 -1
.4=[lim [:—) .5=[lim —:—J 6=(lim /2 —x = undefined) | | *
Ans] = 64 04—x 16 xo21 2T-x 10 x—3 h
2 b

_ . 34x | —9x+20] @
7=( lim |x+2|=1) 8= lim T— = undefined 9=| lim =-1|{| »

x—=(-1) x—3 —3+X| x— 4- x—4
U

1 , |3x-5]

A0=|lim 7 7——=0| .I/=| lim 5 = undefined Math@MUT T
x> 0- |X| X x(5/3) 3x —17x+20 Iy
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~
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A=[lim f(x)=-2, lim f(x)=2, lim f(x) = undefined]
x—0- x— 0+ x—=>0
2=[lim g(x)=2, lim g(x)=2, lim g(x)=2]
x—0- x— 0+ x—0
Ans2 = lim f(x)+g(x)=0 lim f(x)—g(x)=-4 lim f(x)g(x)=4
x—0- x—0- x— 0+
S I (€9 .
lim =1 lim f(x)+ g(x) = undefined Math@MUT
L x = 0+ g(X) x—0 |
d=(lim f(x)=3) 2=(lim f(x)=4) 3 =(lim f(x)=undefined)
Ans3 = X — 3- x -3+ x—3
| 4=( lim f(x)=-5) S5=( lim f(x)=-5.) .6=( lim f(x)=-5.)
x> (-5.1) x> (S0 x> (-5.1)
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A

) 5 ) ) ) ) -3 +x 1 )
A=(lim 2x"+x-4=-1) 2=(lim (5x"+2x-1)(3x"-2x+2)=18) 3=|lm ———=_ M
1 o1 o4 4x —4x+4 52 g

100 — x x+2
.4:( lim —=20j .52( lim —2-2] .6=(lim 4/ 1—x =undefined) 4
x—>100 10 —4/x x>(2) 1—4/x+3 x 2 h
Ansl = 2 ,

) o x=2 ) |x —4x+3| @

7=( lim |x-2|=3) 8= lim 77 = undefined 9= lim —————=2||

x—(-1) x—>2 x_2| x = 3- -3 +x
2 U
] 1 1 ] Sx"—14x+8

A0=| lim 77-—"=0 Al=| lim = undefined Math@MUT T
L x— 0+ |x| X x—>(4/5) |5X—4| A1)
L'




d=[lim f(x)=-2, lim f(x)=2, lim f(x) = undefined]
x—0- x— 0+ x—0
2=[lim g(x)=1, lim g(x)=1, lim g(x)=1]
x—0- x— 0+ x—0
Ans2 = lim f(x)+g(x)=-1 lim f(x)-g(x)=1 lim f(x)g(x)=-2
x—0- x— 0+ x = 0-
A= ) .
lim =2 lim f(x) g(x) = undefined Math@MUT
L x— 0+ g(x) x—>0 a
d=(lim f(x)=3) 2=(lim f(x)=4) 3 =(lim f(x)=undefined)
Ans3 = x—4- x — 4+ x—>4
| 4=( lim f(x)=-5) S5=( lim f(x)=-5.) .6=( lim f(x)=-5.)
x> (-42) x> (42)+ x> (4.2)
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A=(lim 3x"+3x-1=17) 2=(lim (4x +x -3x)(2x+3)=210) 3= lim = M

x—2 x—2 x—?2 S5x-4 3 a

100 —x x—4
.4=( lim —=20] .5=(lim —:—6j 6=(lim +/x -2 =undefined) || !
x>100 10 —4/x x4 3—4/x+5 x> 1 h
Ansl = 5

] ] -3 +x ] -3 +x @

7=(lim |x+3|=5) 8= lim T = undefined 9=| lim — =1{|| 4

X2 X3 —3+x| x> 3+ |x —7x+12|

3 3 _ [3x-5] U

A0=| lim ——=77=0 Al=| lim 5 = undefined Math@MUT T
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i J=[1lim f(x)=2, lim f(x)=2, lim f(x)=2] '
x— 0- x— 0+ x—>0
2=[1lim g(x)=-3, lim g(x)=3, lim g(x)=undefined ]
x—0- x— 0+ x—0
Ans2 = lim f(x)+g(x)=-1 lim flx)-g(x)=-1 lim f(x)g(x)=6
x—0- x— 0+ x— 0+
S= f 2 fx)
lim = lim = undefined Math@MUT
L roo0- g(x) 3 0 g(x) i
d=(lim f(x)=5) 2=(lim f(x)=6) .3=(lim f(x)=undefined)
AI’ZS3_ x—5- x5+ x—5
“|4=( lim f(x)=-4) 5=( lim fix)=-4) .6=( lim f(x)=-4.)
x> (-42) x> (-42)+ x—(-4.2)
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d=(lim 4x"-2x-1=11) 2=(lim (5x +x"-3x)(2x-3)=405) 3=|lm —— =
x—2 x>3 r>1 S5x°+2x-1 6

— 64 AJx=5-3 -1
_4=( al =16J .5=[lim x—:—J .6=(lim 4/ 1—x =undefined)

lim
Ans] — x> 64 «/7—8 14 14-x 6 xo2
_ 3% ¥ =7x+12]
7=( lim |x-2|=3) 8= lim T—— = undefined 9=| lim =1
x—>(-1) x—=3 —3+X| x4+ x—4
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A=[lim f(x)=-1, lim f(x)=1, lim f(x) = undefined]
x—0- x— 0+ x>0
2=[lim g(x)=-3, lim g(x)=-3, lim g(x)=-3]
x—0- x— 0+ x—0
Ans2 = lim f(x)+g(x)=-2 lim f(x)-g(x)=2 lim f(x)g(x)=3
x— 0+ x—0- x—0-
SEL L 1 )
lim = lim — —— = undefined Math@MUT
L x— 0+ g(X) 3 x—0 f(x) |
d=(lim f(x)=4) 2=(lm f(x)=5) 3 =(lim f(x)=undefined)
Ans3 = x—4- x — 4+ x—>4
| 4=( lim f(x)=-5) S5=( lim f(x)=-5.) .6=( lim f(x)=-5.)
x> (-5.1)- x> (5.1)+ x> (-5.1)
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